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1. (10 points) A circuit has two resistors R, and R,, two capacitors C; and C,
and two inductors L; and L, all connected in series. Find the resonant
frequency of the circuit.
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5. (20 points) Wire with resistivity p and diameter ¢ is bent into a
rectangular loop with sides a and b as shown below. The loop of wire lays in
a plane a distance ¢ from a very long straight wire carrying a current of
1 ¢"'*. Compute both the net force and the net torque on the loop at time t=t.
For the direction of current shown, include the direction of the net force.
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